A & 0l & AF S E M A
20128 =4 1 3 LB 9838 ~ 73
sy e ==
HE: HHE2AZH(AEZS)(OIEHIIE)

&2l Jl=&Hl (&9 ®M
A -3 -H2A(SH) - HEAMY - BES Of] AF R J| & oK Hos
SIS 632,330 642,003 A9,673
HE 2L ZHI(AZS)(IIEH/IIE 220,428 244,033 N 23,605

Jl=2Z4l 220,428 244,033 23,605
JI23Hl 220,428 244,033 23,605

201 Bt Al 167,574 186,193 /18,619
01 AtR2tel 48,181 53,534 25,353
OAtR2t2ldl olatE 2 -5,353,000& A5,353 0 A5,353

02 2244 119,393 132,659 A 13,266
O=3=2ZHl Mazg=E -13,266,000& N 13,266 0 N 13,266
202 044l 41,472 46,080 24,608
01 =Uodbl 41,472 46,080 4,608
O=LoHl a2 -4,608,000& 24,608 0 24,608
203 R F&] 11,382 11,760 N378
01 J|22d PR =8 6,270 6,600 A330
OJ22ZHS=8H a2 -330,000& 2330 0 A330

02 FRAIAHRF XY 912 960 A48
OFRAIMMH L= HatE2= 48,0004 A48 0 A48
OEZ ALZH (LB /LBIEET) 209,902 195,970 13,932
AP ES 178,022 162,790 15,232
FUHEHXA 83,512 68,280 15,232
201 et A | 37,532 19,480 18,052
01 AR 2t eld| 25,532 19,480 6,052
OFQURXIHE Ler=EH| 8,000,000& 8,000 0 8,000
OAtR2t2ldl oaE2=2 -1,948,000& 1,948 0 21,948

02 2244 12,000 0 12,000
OF0UXXEH 5322 £ HA 7,000,000 7,000 0 7,000
OFQXXIHE H=H| 5,000, 000& 5,000 0 5,000
202 044l 1,800 2,000 2200
01 =Uodbl 1,800 2,000 A 200
O=UoLl HaE2=2 -200,000& 2200 0 A 200
203 R F=& 3,800 4,000 A200
03 AIZF= &I R =8| 3,800 4,000 2200
OANMZ=ZNASF=EH OHAEZE -200,000& 2200 0 2200
206 X =l 1,900 2,000 2100
01 =4l 1,900 2,000 2100
OMEzHl oaEsdz -100,000& A 100 0 A100
301 et A= 9,540 10,600 21,060
10 HAIAHIEAZ 9,540 10,600 21,060




FAH2EE
I oYS MYPU(YUTTHH/LBHT)
el HEXNEES
SN CR(EH) - NRAY - BES 01l &k o o173 o
OAMAHIEAS HAMELE -1,060,000& A 1,060 0
307 2IZtol 18,690 19,600
04 QIZHHALE 17,290 18,200
OPRIZIHAIE X Q&= 22 -910,000& 2910 0
405 KtatE = 6,650 7,000
01 ML SZHSHI 6,650 7,000
OXMLSSHSH MaEH=2 -350,000& A350 0
SSAlE2el 31,880 33,180
AME2e| K& 31,880 33,180
201 Et2Ed| 2,700 3,000
02 2244 2,700 3,000
O332ZH HazLE -300,000& A 300 0
206 M= 4l 19,000 20,000
01 =4l 19,000 20,000

OM=Hl HaEZE -1,000,000& A 1,000 0




= H O
N & o & AF &2 H Ml A
A Ot
M HZ2FZHI(OIS)(OI1EH/IIE)
o D23l (&9 HM
A -3 -H2A(SH) - HEAMY - BES (il & OH J|E Hos
Jtefl & 250,426 260,281 A9,855
HE 2L ZH (Ot ™) (J1EH/JIE 86,011 94,841 /8,830
Jl=2dHl 86,011 94,841 18,830
JI23Hl 86,011 94,841 18,830
201 L2 55,549 61,721 N6, 172
01 AtR2tel 18,182 20,202 22,020
OAtR2edl HaEHE -2,020,000& A2,020 0 A2,020
02 2244 37,367 41,519 AN4,152
O332ZH HazLE -4,152,000& A4,152 0 N4,152
202 o4l 20,736 23,040 N2,304
01 22U gl 20,736 23,040 N2,304
O=UWAHHl oaES = -2,304,000& N2,304 0 A2,304
203 R F&] 9,726 10,080 A 354
01 )2 2d PR 6,270 6,600 A330
OJ22ZHS=8H a2 -330,000& A330 0 2330
02 B AP R F A 456 480 N24
OFRAIMMHSFAH HatB2E -24,0004 N24 0 N24
Jhdl S A ZHI(LB 23T /LB T) 63,415 64,440 A1,025
HERNZES 63,415 64,440 A1,025
FOEHEAEXA 18,875 19,900 A1,025
202 Ol 1,800 2,000 /200
01 =Loddl 1,800 2,000 A 200
O3UHAHYl HsEZE -200,000& A 200 0 A 200
203 YR F=&H] 2,375 2,500 A125
03 Al FA AR 2,375 2,500 A125
OANME=LALSFLH o222 -125,000& A 125 0 A125
301 LB AF 900 1,000 A 100
10 HALAHI2 &2 900 1,000 A 100
OdMAHIEAS HMBLE -100,000& A 100 0 A 100
307 gI2+0l ™ 11,400 12,000 2600
04 QIZHHALE X 11,400 12,000 A 600
OQIZHSHAIE X (flatE 22 -600, 000& 2600 0 2600




= AH O
M= 0l & AF S g Al A
2 22H
M HYESIZHI(E=9H)(DIEH/DIE
CHel: D123l (e
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
2= 254,894 262,731 N7 ,837
HYESHHHI(AEZH)(IIEHIIE 87,849 94,661 NB,812
gl 87,849 94,661 NB,812
23| 87,849 94,661 N6,812
201 LEtRAHH| 57,387 61,541 A4, 154
01 At 22| 18,182 20,202 22,020
OAIR22IHl HlatE2ZE -2,020,0002 A2,020 0 A2,020
02 2=229H| 39,205 41,339 N2,134
OZ2Z22%H| o2 -2,134,0002 A2,134 0 N2,134
202 o4 4| 20,736 23,040 N2,304
01 2ol 20,736 23,040 A2,304
O=2UW0Hl o2 -2,304,000& A2,304 0 A2,304
203 & L=2d| 9,726 10,080 A354
01 J|22HHRFAH| 6,270 6,600 A 330
OJIZ2HHIFXH olaE2E -330,0008 A 330 0 A 330
02 MDA R =] 456 480 A24
OFJAININMALIF=ZRH HAEZE  -24,0002 N24 0 N4
22 AIGHEY (eSS Y/LBEEN) 66,045 67,070 A1,025
HY X &S 66,045 67,070 A1,025
FOENHXE 18,875 19,900 A 1,025
202 o4 4l 1,800 2,000 A200
01 2LHN Y] 1,800 2,000 A 200
O=ZLH0Hl a2 -200,000& A200 0 A200
203 & L=Zd| 2,375 2,500 A125
03 AIBHZ=ZXIH 2= XY 2,375 2,500 A125
OAMMF=EARFXIH| MAEZE -125,000& A 125 0 AN 125
301 et AZ 900 1,000 A 100
10 HAIAHI EAS 900 1,000 A 100
OAIAHIEAZ HMEZE -100,000& A 100 0 A 100
307 212+01 A 11,400 12,000 2600
04 QIZSHALE X 11,400 12,000 A600
ORIZIHAIE X latE A= -600, 000 A600 0 AB00




= AH O
N = 0 &8 AF S & Al A
2L e H
M HYESIZHI(UIH)(DIEH/DIE
CHel: D123l (e
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
el 262,219 271,993 N9, 774
SHAHSHAH| (T2 H ) (DIEHIIE 85,284 94,033 A8,749
gl 85,284 94,033 A8,749
23| 85,284 94,033 N8,749
201 LEtRAHH| 54,822 60,913 26,091
01 At 22| 18,182 20,202 22,020
OAIR22IHl HlatE2ZE -2,020,0002 A2,020 0 A2,020
02 2=229H| 36,640 40,711 A4 071
OZ2Z22%H| o2 -4,071,0002 A4,071 0 A4, 071
202 o4 4| 20,736 23,040 N2,304
01 2ol 20,736 23,040 A2,304
O=2UW0Hl o2 -2,304,000& A2,304 0 A2,304
203 & L=2d| 9,726 10,080 A354
01 J|22HHRFAH| 6,270 6,600 A 330
OJIZ2HHIFXH olaE2E -330,0008 A 330 0 A 330
02 MDA R =] 456 480 A24
OFJIIMHI XY olatEL= -24,000< N24 0 N4
Holtd Al ZH|(LEtS SN /EEH ) 75,935 76,960 A1,025
HY X &S 75,935 76,960 A1,025
FOENHXE 18,875 19,900 A 1,025
202 o4 4l 1,800 2,000 A200
01 2LHN Y] 1,800 2,000 A 200
O=ZLH0Hl a2 -200,000& A200 0 A200
203 & L=Zd| 2,375 2,500 A125
03 AIBHZ=ZXIH 2= XY 2,375 2,500 A125
OAMMF=EARFXIH| MAEZE -125,000& A 125 0 AN 125
301 et AZ 900 1,000 A 100
10 HAIAHI EAS 900 1,000 A 100
OAIAHIEAZ HMEZE -100,000& A 100 0 A 100
307 212+01 A 11,400 12,000 2600
04 QIZSHALE X 11,400 12,000 A600
ORIZIHAIE X latE A= -600, 000 A600 0 AB00




= AH O
N = 0 &8 AF S & Al A
2A: SIEH
M HYESIZHI(SFEH)(OIEH/DIE
CHel: D123l (e
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
SEH 264,503 274,386 N9,883
HYSHHH(SEH)(DIEHIIE) 86,261 95,119 N\8,858
gl 86,261 95,119 N\8,858
23| 86,261 95,119 A\8,858
201 LEtRAHH| 55,799 61,999 6,200
01 At 22| 18,182 20,202 22,020
OAIR22IHl HlatE2ZE -2,020,0002 A2,020 0 A2,020
02 2=229H| 37,617 41,797 A4, 180
OZ2Z22%H| o2 -4,180,0002 A4,180 0 A4, 180
202 o4 4| 20,736 23,040 N2,304
01 2ol 20,736 23,040 A2,304
O=2UW0Hl o2 -2,304,000& A2,304 0 A2,304
203 & L=2d| 9,726 10,080 A354
01 J|22HHRFAH| 6,270 6,600 A 330
OJIZ2HHIFXH olaE2E -330,0008 A 330 0 A 330
02 MDA R =] 456 480 A24
OFJIIMHI XY olatEL= -24,000< N24 0 N4
SIEH AL HH (LS BN /LB ) 77,242 78,267 A1,025
HY X &S 77,242 78,267 A1,025
FOENHXE 19,682 20,707 A 1,025
202 o4 4l 1,800 2,000 A200
01 2LHN Y] 1,800 2,000 A 200
O=ZLH0Hl a2 -200,000& A200 0 A200
203 & L=Zd| 2,375 2,500 A125
03 AIBHZ=ZXIH 2= XY 2,375 2,500 A125
OAMMF=EARFXIH| MAEZE -125,000& A 125 0 AN 125
301 et AZ 900 1,000 A 100
10 HAIAHI EAS 900 1,000 A 100
OAIAHIEAZ HMEZE -100,000& A 100 0 A 100
307 212+01 A 11,400 12,000 2600
04 QIZSHALE X 11,400 12,000 A600
ORIZIHAIE X latE A= -600, 000 A600 0 AB00




= AH O
N = 0 &8 AF S & Al A
2 89H
M HYSIZH(2EH)(DIEH/DIE
CHel: D123l (e
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
== 283,679 294,345 A 10,666
HY2HHUI(SLEH)(IIEHIIE 93,324 102,965 A9,641
gl 93,324 102,965 A9,641
23| 93,324 102,965 A9,641
201 LEtRAHH| 61,096 67,885 26,789
01 At 22| 18,673 20,748 2,075
OAIR22IHl HlatE2ZE -2,075,0002 A2,075 0 N2,075
02 2=229H| 42,423 47,137 N4 T4
OZ2Z22%H| o2 -4,714,0002 N4, T14 0 A4 T14
202 04 Hl 22,464 24,960 N2,496
01 2ol 22,464 24,960 N2,496
O=2UW0Hl o2 -2,496,0002 A2,496 0 A2,496
203 & L=2d| 9,764 10,120 A 356
01 J|22HHRFAH| 6,270 6,600 A 330
OJIZ2HHIFXH olaE2E -330,0008 A 330 0 A 330
02 HRAINAH 2=KH| 494 520 A26
OFJIIMHI XY olatEL= -26,000< NA26 0 N6
EUH AISIH(L ST /LB Y) 89,355 90,380 A1,025
HY X &S 89,355 90,380 A1,025
FOENHXE 18,875 19,900 A 1,025
202 o4 4l 1,800 2,000 A200
01 2LHN Y] 1,800 2,000 A 200
O=ZLH0Hl a2 -200,000& A200 0 A200
203 & L=Zd| 2,375 2,500 A125
03 AIBHZ=ZXIH 2= XY 2,375 2,500 A125
OAMMF=EARFXIH| MAEZE -125,000& A 125 0 AN 125
301 et AZ 900 1,000 A 100
10 HAIAHI EAS 900 1,000 A 100
OAIAHIEAZ HMEZE -100,000& A 100 0 A 100
307 212+01 A 11,400 12,000 2600
04 QIZSHALE X 11,400 12,000 A600
ORIZIHAIE X latE A= -600, 000 A600 0 AB00




= AH O
N = 0 &8 AF S & Al A
A H2H
M HYESIZH(E=D)(DIEH/DIE
el D=2 (&3
2N -3 - c2(3H) - NEME - HES Ol AFoH pjEsifon Hl =2
H=0 267,200 275,562 A8,362
HY2AHUI (H=H)(IIEHIIE 92,595 99,932 N7,337
Jl2dH| 92,595 99,932 N7,337
Jl=AH| 92,595 99,932 N7,337
201 L2 AH 60,367 64,852 A4,485
01 AL 2t2lH] 18,673 20,748 A2,075
OAISRZ2IHl atEA= -2,075,000 A2,075 0 A2,075
02 222 41,694 44,104 A2,410
O2Z2%H| HaEA= -2,410,000 A2,410 0 A2,410
202 O4H| 22,464 24,960 A2,496
01 2L 04l 22,464 24,960 A2,49
O=2U0Hl olatE2= -2,496,000 A2,496 0 A2,496
203 & R=ZH| 9,764 10,120 A 356
01 J| 2 2H AR F | 6,270 6,600 A330
OJ| 22U =AH| olArE2E2  -330,000€ A330 0 2330
02 AR F Y] 494 520 A6
OFKAINMADF=ZAY| HARZE  -26,000 N26 0 A6
HIH AL FH (L2 /A ) 73,605 74,630 A1,025
HEX 2 E =S 73,605 74,630 1,025
FOIEN A 18,875 19,900 1,025
202 O4H| 1,800 2,000 A 200
01 2U0ddl 1,800 2,000 A 200
O2U0Hl a=2E -200, 000 2200 0 A 200
203 & R=ZH| 2,375 2,500 A125
03 Al =X B =Y 2,375 2,500 A125
OAHMZRAD Y| OlatE2ZE -125,0002 A 125 0 A125
301 LB A2 900 1,000 A 100
10 ALAIHI 2 A2 900 1,000 A 100
O AMAUHIBAZ HaELR -100, 000 A 100 0 A 100
307 QI2+01 A 11,400 12,000 A 600
04 QIZFBHALE X 11,400 12,000 AB00
OBRIZIHAIE X oAt E 22 -600, 000 2600 0 2600




N = 0l & AF & F Al A
M NEH

HE: BHS AL (NS (OIEHIIE

el Jl=3 (el =3
SNBSS - MBAY - BES 01l &4 24 pJE-T {imE=Eh

ANEH 311,380 320,572 N9,192
HY 2L ZHI(XIEH)(JIEHIIEH 100,059 108,226 N8, 167
Jl=2dHl 100,059 108,226 N8, 167
Jl=&dd| 100,059 108,226 N8, 167
201 get=24Ed| 67,831 73,146 AN5,315
01 AtR2tel 18,673 20,748 A2,075
OAtR2eld HaEZ=2 -2,075,000& A2,075 0 22,075
02 23244l 49,158 52,398 A3,240
O33=22Hl BT =E -5,240,000& A5,240 0 N5,240
O =l 8,472 6,472 2,000
-8 =Xa& d=H X 3,000,000& 3,000 1,000 2,000
202 044l 22,464 24,960 N2,496
01 S LHAbI 22,464 24,960 N2,496
O=UWuHl oaE2= -2,496,000& A2,496 0 A2,496
203 R =2 9,764 10,120 A 356
01 71228248 6,270 6,600 A 330
OJ22ZgL=4H oaE2Z= -330,000 A330 0 A 330
02 HJA ISR 494 520 NP6
O3 A 2=l OlatEZdE -26,000& N26 0 N26
NEH AL BH (LI HE/ABEHT) 100,321 101,346 A 1,025
RS DNRER= 4= 91,855 92,880 A 1,025
FUHHAA 20,875 21,900 A 1,025
202 044l 1,800 2,000 A 200
01 = LHAObI 1,800 2,000 A 200
O=UWHHl olaE2= —200,000& A 200 0 A200
203 R =& 2,375 2,500 A125
03 AIZF= &R A 2,375 2,500 A125
OANMF=IHSFAH OatBZ=E  -125,000 2125 0 A125
301 Lt as 900 1,000 A 100
10 BAAHIEN S 900 1,000 A 100
OdMAHIEAS HMETE -100,000& A 100 0 A 100
307 21Z2tol & 13,400 14,000 A600
04 QIFHALE & 11,400 12,000 A600
ORIZIAAEE OlaE 2 Z -600,000& A600 0 A600




= H O

N & o & AF &2 H Ml A
S R P il
A HAH2AAHI(SGHHE)(IIEH/DIIE)

o D23l (&9 HM
A -3 -H2A(SH) - HEAMY - BES (il & OH J|E Hos
A 246,406 255,881 N9,475
HE 2L ZHI(SAH)(IIEH/DIIE 82,591 91,041 A8,450

Jl=2dHl 82,591 91,041 A8,450
JI23Hl 82,591 91,041 A8,450

201 L2 52,129 57,921 A5, 792
01 AtR2tel 18,182 20,202 22,020
OAtR2edl HaEHE -2,020,000& A2,020 0 A2,020

02 2244 33,947 37,719 NB,772
O332ZH HazLE -3,772,000& N3,772 0 NB,772

202 o4l 20,736 23,040 N2,304
01 22U gl 20,736 23,040 N2,304
O=UWAHHl oaES = -2,304,000& N2,304 0 A2,304

203 R F&] 9,726 10,080 A 354
01 )2 2d PR 6,270 6,600 A330
OJ22ZHS=8H a2 -330,000& A330 0 2330

02 B AP R F A 456 480 N24
OFRAIMMHSFAH HatB2E -24,0004 N24 0 N24
SHAHH AEBH (LS IHE /LB E) 62,815 63,840 A1,025
HERNZES 62,815 63,840 A1,025
FOEHEAEXA 18,875 19,900 A1,025
202 Ol 1,800 2,000 /200
01 =Loddl 1,800 2,000 A 200
O3UHAHYl HsEZE -200,000& A 200 0 A 200

203 YR F=&H] 2,375 2,500 A125
03 Al FA AR 2,375 2,500 A125
OANME=LALSFLH o222 -125,000& A 125 0 A125

301 LB AF 900 1,000 A 100
10 HALAHI2 &2 900 1,000 A 100
OdMAHIEAS HMBLE -100,000& A 100 0 A 100

307 gI2+0l ™ 11,400 12,000 2600
04 QIZHHALE X 11,400 12,000 A 600
OQIZHSHAIE X (flatE 22 -600, 000& 2600 0 2600




= AH O
N = 0 &8 AF S & Al A
A 22H
M HYESIZHI(RSH)(OIEH/DIE
el D=2 (&3
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
512,632 513,364 AT32
=2 26,980 26,980 0
= 485,652 486,384 AT32
SHAHI(2SH)(IIEHIIE 157,795 157,783 12
ZH| 157,795 157,783 12
=224 157,795 157,783 12
201 Lpt2AH 113,733 109,703 4,030
01 AFR2telH 25,024 27,804 A2,780
OAISRZ2IHl HaEAE -2,780,000 A2,780 0 A2,780
02 222 88,709 81,899 6,810
O2Z29H| HaEL= -8,190,000 28,190 0 28,190
OFAXY 2 IS SERH ==
,500,00024 x2& 5,000 0 5,000
O2Z22 2 HMAl 58,920 48,920 10,000
—ZHA 2 IIRE MIIRS BEER
5,000,000& x2& 10,000 0 10,000
202 O4H| 32,832 36,480 A3,648
01 2U0ddl 32,832 36,480 A3,648
O2UH0Hl ofarE2= -3,648,000 A3,648 0 A3,648
203 Y 2= 2| 11,230 11,600 A370
01 J| 2 2H A2 6,270 6,600 A330
OJ |22 A2 HlAHE -330, 000 A330 0 A 330
02 B AP R =AY 760 800 A40
OHRAIIMADEZRIH| Ol AHE -40,0002 A40 0 A40
A B (Lt DN /U Btsl 213,337 214,081 AT44
=2 26,980 26,980 0
= 186,357 187,101 AT44
HEXASS 125,544 127,100 A1,556
FOIHH A 30, 104 31,660 A1,556
201 LEL2AH| 1,404 1,560 A 156
01 At 224 1,404 1,560 A 156
OAIS 22t HatE2= -156, 000 A 156 0 A 156
202 04l 1,800 2,000 A 200
01 2U0d bl 1,800 2,000 A 200
O2U0Hl HaE2E -200, 000 A 200 0 A 200
203 & 2= 2| 2,850 3,000 A 150
03 Al =X B =Y 2,850 3,000 A150
OANMERASZEIH| Ol A= -150, 000 A 150 0 A 150
301 LB A2 1,350 1,500 A 150




SN RS
o e AL (YBBTHE /L)

ool HINRES (Erol: @2
SM-EH . C(BH) - HRAY - B2 0 Ak o4 7|5 o HRE2

10 HAIAMHIE &3 1,350 1,500 A 150

OdMAHIEAS HMETE -150,000& A 150 0 A 150

307 2I2toI ™ 19,100 20,000 A900

04 DIZFSAR E 17,100 18,000 900

ORIZHHAIE Z Ol &t -900,000& A 900 0 A900

SAE 2tel 87,793 86,981 812

= 26,980 26,980 0

= 60,813 60,001 812

33 A& 2te 13,103 13,581 NAT8

206 M =4l 9,072 9,550 ANAT8

01 M2 9,072 9,550 ~478

OMEH a2 -478,000& N478 0 A4T8

SSEAMISNR 2 74,690 73,400 1,290

= 26,980 26,980 0

i 47,710 46,420 1,290

201 Et2Ad| 58,650 57,200 1,450

= 26,980 26,980 0

= 31,670 30,220 1,450

01 AtR2tel 35,248 36,420 AT1,172

OAtR2t2ldl ol &HE -1,172,000& AT1,172 0 AT1,172

02 32244 23,402 20,780 2,622

O332ZHl oaEZ -378,000& A378 0 N378

0Z223 2 HAl 18,780 15,780 3,000

—=2X& &8IIR3 1,250,000& 123 15,000 12,000 3,000

= 6,000 6,000 0

= 9,000 6,000 3,000

206 M= 4l 1,140 1,200 260

01 =4 1,140 1,200 260

OMEZHl GiaE2= -60,000& A60 0 A60

405 KHatE =S| 14,900 15,000 A100

01 XAt =S ZFHSHI 14,900 15,000 A 100

OMAESSHEH O -100, 000& A 100 0 A 100




= AH O
N = 0 &8 AF S & Al A
A 250
M HYHSIZHI(24H)(DIEH/DIE)
el D=2 (&3
2N -3 - c2(3H) - NEME - HES Ol AFoH pjEsifon Hl =2
240 253,465 262,221 N8,756
¥ 2AHUI(24H)(IIEH/IIE 85,120 93,851 A8,731
Jl2dH| 85, 120 93,851 A8,731
Jl=AH| 85,120 93,851 A8,731
201 L2 AH 54,658 60,731 16,073
01 AL 2t2lH] 18,182 20,202 22,020
OAISRZ2IHl atEA= -2,020,000 A2,020 0 A2,020
02 222 36,476 40,529 A4,053
O2Z2%H| HaEA= -4,053,000 4,053 0 4,053
202 O4H| 20,736 23,040 A2,304
01 2L 04l 20,736 23,040 A2,304
O=2U0Hl olatE2= -2,304,000 A2,304 0 A2,304
203 & R=ZH| 9,726 10,080 A354
01 J| 2 2H AR F | 6,270 6,600 A330
OJ| 22U =AH| olArE2E2  -330,000€ A330 0 2330
02 AR F Y] 456 480 A24
OFRQAINMADZ=ZAY| HARZE 24,000 A24 0 A24
S50 MBI (L2 ZHH /AL ) 67,345 67,370 A5
HEX 2 E =S 67,345 67,370 A5
FOIEN A 19,875 19,900 A5
202 O4H| 1,800 2,000 A 200
01 2U0ddl 1,800 2,000 A 200
O2U0Hl a=2E -200, 000 2200 0 A 200
203 & R=ZH| 2,375 2,500 A125
03 Al =X B =Y 2,375 2,500 A125
OAHMZRAD Y| OlatE2ZE -125,0002 A 125 0 A125
301 LB A2 900 1,000 A 100
10 ALAIHI 2 A2 900 1,000 A 100
O AMAUHIBAZ HaELR -100, 000 A 100 0 A 100
307 QI2+01 A 12,400 12,000 400
02 QI2tABAE X 1,000 0 1,000
ONMY 2=2¢ g2d X 1,000,000 1,000 0 1,000
04 QIESHALE & 11,400 12,000 2600
ODIZIHAIE X Ol A E 22 -600, 000 AB00 0 2600




= AH O
N = 0 &8 AF S & Al A
2A: 2FH
. HYESIZH(2FH)(OIEH/DIE
CHel: D123l (e
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
=509 271,808 280,023 N8,215
HY2HGUI(2FH)(IIEHIIE 91,254 98,444 A7,190
gl 91,254 08,444 AT7,190
23| 91,254 98,444 AT7,190
201 LEtRAHH| 60,792 65,324 A4 532
01 At 22| 18,182 20,202 22,020
OAIR22IHl HlatE2ZE -2,020,0002 A2,020 0 A2,020
02 2=229H| 42,610 45,122 N2,512
OZ2Z22%H| o2 -2,512,0002 A2,512 0 N2,512
202 o4 4| 20,736 23,040 N2,304
01 2ol 20,736 23,040 A2,304
O=2UW0Hl o2 -2,304,000& A2,304 0 A2,304
203 & L=2d| 9,726 10,080 A354
01 J|22HHRFAH| 6,270 6,600 A 330
OJIZ2HHIFXH olaE2E -330,0008 A 330 0 A 330
02 MDA R =] 456 480 A24
OFJIIMHI XY olatEL= -24,000< N24 0 N4
ZFEH AL I (LS BEHEY /LB Y) 79,554 80,579 A1,025
HYT S &= 77,135 78,160 A 1,025
FOENHXE 19,875 20,900 A 1,025
202 o4 4l 1,800 2,000 A200
01 2LHN Y] 1,800 2,000 A 200
O=ZLH0Hl a2 -200,000& A200 0 A200
203 & L=Zd| 2,375 2,500 A125
03 AIBHZ=ZXIH 2= XY 2,375 2,500 A125
OAMMF=EARFXIH| MAEZE -125,000& A 125 0 AN 125
301 et AZ 900 1,000 A 100
10 HAIAHI EAS 900 1,000 A 100
OAIAHIEAZ HMEZE -100,000& A 100 0 A 100
307 212+01 A 12,400 13,000 2600
04 QIZSHALE X 11,400 12,000 A600
ORIZIHAIE X latE A= -600, 000 A600 0 AB00




= AH O
N = 0 &8 AF S & Al A
2 82
M HYESIZH(F=9)(DIEH/DIE
CHel: D123l (e
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
39 276,098 286,115 A10,017
HYSHHH(K3H)(IIEHIIE 87,473 96,465 A8,992
gl 87,473 96,465 A8,992
23| 87,473 96,465 A8,992
201 LEtRAHH| 57,011 63,345 6,334
01 At 22| 18,182 20,202 22,020
OAIR22IHl HlatE2ZE -2,020,0002 A2,020 0 A2,020
02 2=229H| 38,829 43,143 N4 314
OZ2Z22%H| o2 -4,314,0002 N4, 314 0 N4, 314
202 o4 4| 20,736 23,040 N2,304
01 2ol 20,736 23,040 A2,304
O=2UW0Hl o2 -2,304,000& A2,304 0 A2,304
203 & L=2d| 9,726 10,080 A354
01 J|22HHRFAH| 6,270 6,600 A 330
OJIZ2HHIFXH olaE2E -330,0008 A 330 0 A 330
02 MDA R =] 456 480 A24
OFJIIMHI XY olatEL= -24,000< N24 0 N4
FEH AISIH (LS SEHEY /LB H) 87,625 88,650 A1,025
HY X &S 87,625 88,650 A1,025
FOENHXE 19,875 20,900 A 1,025
202 o4 4l 1,800 2,000 A200
01 2LHN Y] 1,800 2,000 A 200
O=ZLH0Hl a2 -200,000& A200 0 A200
203 & L=Zd| 2,375 2,500 A125
03 AIBHZ=ZXIH 2= XY 2,375 2,500 A125
OAMMF=EARFXIH| MAEZE -125,000& A 125 0 AN 125
301 et AZ 900 1,000 A 100
10 HAIAHI EAS 900 1,000 A 100
OAIAHIEAZ HMEZE -100,000& A 100 0 A 100
307 212+01 A 12,400 13,000 2600
04 QIZSHALE X 11,400 12,000 A600
ORIZIHAIE X latE A= -600, 000 A600 0 AB00




